PRk 22FE BERIwY RPVYFaAPIIIEFEE2TO YD TERR
=5 | BErIBAY R —BE(6922Yards Par 72)
HAE © | ERk228588A30H
IVEU—: 144%
iz 1308
V) B8l FhlE 237 V) BEl FhlE 237 V) B8l FhlE 237 V) B8l FhlE 237
1 8B =R S+ 70  (35.35) 4 SR BT EsB 79 (41.38) ME e F= 83  (41.42) M 888 wiR=E1R 90  (43.47)
FF MR LruR— 70 (34.36) BB B/ Erar 79  (40.39) ST BYE mEFE 83 (41,42 Ik ES PR 90  (41.49)
3 FECIEBA H&: 72 (36.36) BEEE PR 79 (40, 39) RE —R% 83 (41,42 125 KRE X #E 91  (44.47)
4 8 E7 B 73 (38.35) INKEZE KP 79 (40.39) INKK BBF  mo< k-3 83 (41,42 126 BN RYE @BEFUY 92  (47.45)
JIE FBBE  IPI5 73 (37.36) ANBE FE F& 79 (40, 39) =5 ®=E B5 83  (40.43) B NS =w 92  (43,49)
BXY IES =R 73 (35.38) B At %2 79 (39, 40) 0 T B 83  (39.44) 128 S8 5 3der 94 (46, 48)
1 RE RE R 74 (37.37) RE BUE 1@ 79 (39, 40) 0 i ST%Y 83  (39.44) 120 BH BE  syuven—>y 102 (52, 50)
B = BER 74 (36.38) R BB m=5m 79 (39, 40) 89 EIFHE K& 84  (45.39) i B AT ms
KREFES  AHALRZPY 74 (36.38) R =7 wEREHSD 79 (39, 40) mABE kP 84  (43.41) xR KK BEK  g&s15
=R TS mEx 74 (35.39) 50 (X% BT @R 80  (41.39) BH S & 84  (43,41) x5 H%E ZI R
n INFRI BFs 75 (39.36) Sy B 80  (41.39) fBx —78  #Esl3 84  (42.42) x5 B —2 HF
B ARE menryu— 75 (39.36) N0E% B2 m@E= 80 (40, 40) T FET 84  (42.42) xig INEF RZ AR
BA Mz wrE 75 (39.36) KB BZ _J-z2y37 80 (40,40 i —B8 == E8 84  (41.43) xig BB N =F=
AR EF =28#%%5 75 (37.38) =8 B ER 80 (40, 40) BE B & 84  (39.45) x5 D0E% ZEHR KB
I ZE8 FE& 75  (37.38) EB8)INl — R®PELX 80 (40, 40) HE8 IEE, =8 84  (38.46) x5 WG —hf
&M & ST 75 (36.39) M BE stLrogrr 80 (39, 41) 97 BB B #mtx 85  (45.40) x5 BHF Sfc ©=
- ME FE BB - £aK 88 ] 80  (39.41) MAE2 =28-#£% 85 (45, 40) x5 xR —B8  gEolE
17 EES8K & 76 (39.37) AR BB  »rcFcvs 80 (38,42 N BE  wrw 85  (44.41) x5 fA B— AL RrRZPY
NE Bt wder 76 (39.37) i IFE ussemwr 80 (37.43) EBlIF =—8 k7 85 (44, 41) xig IV B2  FERoS
R EE uvrywz 76 (38.38) L BB B8R 80  (37.43) ZIRE F0iE & 85  (44,41) xig NS ES &
=1 M— =% 76 (37.39) 61 == BXRK AR 81  (43.38) NI #HE =s 85  (41.44) % = ¥EE HBGC
W 8k s8R 76 (35.41) 285 Y6ah v F 81  (42.39) 103 EH =—8BB = 86  (44.42) "B HE =K K
2 FARKE— =R 77 (41.36) HZE =ES PR 81 (41,40 18 1IE H.LUAI2 86  (44.42)
=8 5 BFE 77 (41.36) BE S Bos 81  (39.42) FaEF #—EB8 wos 86  (44.42)
P KRB KRR 77 (40.37) XE RS FE 81  (37.44) 21 7 Bx 86  (43.43)
MK KR &R 77 (39.38) 66 B XT #x 82  (43.39) 107 £ Xk w3IEP 87  (44.43)
PR BE = 77 (39.38) MR & & 82  (42.40) MA BT =) 87  (44.43)
2 R TEEE 77 (39.38) BB 8 i 82  (42.40) BB —a  #%R 87  (43.44)
HERE sousvcoz 77 (39.38) SBE [SE 82  (41.41) & BASA AURZPY 87  (43.44)
W 5 BE I3 77 (38.39) EF RTM ALRZPY 82 (41.41) SEH - EM 87  (42.45)
hE IFE =t5™ 77 (38.39) g E— =2 82  (41.41) R#F0 URBR  miBE 87  (42.45)
K & H.L4o2 17 (37.40) W2 B e~x-nuzzoz 82 (41.41) 13 EE IRz RA 88  (46.42)
2 A EE mex 78 (39.39) BF W =]} 82  (41.41) SHIEX v 88 (46,42
TE® KR 78 (39.39) SHIEE 8 82  (39.43) B R meoit 88  (45.43)
T (2 £3drr 78 (38, 40) P92 B8 PR 82  (39.43) BB Z®E -—2y3P 88 (43,45
FEE B S0 78 (38.40) INEFHE SASC BEv B 82  (39.43) M7 MR Bl w=FE 89  (45.44)
8 JRIE IJRYDIR 78  (38.40) FIN RN GMG/\EF 82  (39.43) BRX Z08  sosossoam 89 (44,45)
WA ABF =+ 78  (38.40) 78 B HEE =& 83  (44.39) ZH M= AHULRZPY 89  (42.47)
M —%8  weR 78  (37.41) B FK mwnrvu— 83 (43.40) 120 % B s 90  (47.43)
YT ATYT 4 RRNRS 78  (37.41) n0E 188 =FE 83  (42.41) HE KNG &8 90  (46.44)
Pl FEE Z|8 78 (36.42) Ath (2B @ma 83  (42.41) BRWERZ ALRZPY 90 45, 45)



